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500Lki&
LPG 182, 332 1,985 0 4,238, 645 11,202 0
PG 60, 999 0 0 448,138 100 0
LG 31,976 50 0 284, 150 304 0
AG 2,065 0 0 25, 361 3, 000 0
LT 1,932 1,220 0 20, 137 8,948 0
LNGV 0 0 0 0 0 0
(LNL 0 0 0 0
LDH 0 0 0 0
CHGGV 0 200 0 326 2, 000 0
a2l ] 217 0 0 906 0 0
eS| 879,921y 3,45y L of 5,017,663  : 25,804 o 0
HETER A (%) 93.2 95.5 0.0
SE%SE 882,906 L 904327 |
HEnERAE (%) 93.2

500L &4 _E 10001 5 7
LPG 3 1 3 1
PG 1, 026 0 4,341 0
LG 240 314 3,575 3,003
LT 0 0 0 0
nL 0 0
(LDH 0 0
CHGGV 0 0 0 0
ZDfth 9 0 46 0
fEEgAR | 128 ss | | _ Temf ____sooa [
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LPG 974 500 99 1,184 3.369 472
PG 0 8 0 57 8 0
LG 117 153 5 1,433 1,141 23
LT 10 14 15 488 97 97
nL 0 0
(LDH 0 2
CHGGY 0 0 0 0 0 0
ZD4th 20 10 0 51 27 4
EEgast | i8] 68 mol | e[ 4eel 5o
HMBIERAE %) 102.0 99.0 105.7
L@gs | i 1 453 ]
HETERA L %) 0.3
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